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1. HiE= JE—FRKROVO—ILEEHTI=VE
2. fis4=  |ECV-D270,300,335A1
3. HFREET
(OB E=E M M= 605 kg
QHB/EE W W=M x 10/1000= 6.05 kN
(2)7Uh—K b
D#ARF :n n= 6 y:N
Q" WE : d (FEFR) M 12
@—AH-YDEhETETE (FFRIZK LM EE) A= 11304  |om?
OB EEEZEZA-HEAEDEIRYEZITDERBIDOTU/A—K MMERE: nt
nt= 3 ;N
RFEFELVEFEDETOES hG= 58.0 cm
(4)REFT BARMDSH =R VAN Y |= 80.0 cm

(B)RE T DA MM oI =K M IDN R EDETDKFEIER
IG=[__ 373 Jem (G=I/2)

4. RETETE
(1 ERETAKEEE :KH KH= 1.5 95,
(2)E&ETRKFEMED FH FH=KHXW= 9.08 kN
(3)ERETAMEHESN FV FV=1/2xFH= 4.54 kN

(D) Toh-KWDIREH-YDEIRN :Rb

Rb={FH-hG—(W—FV)-IG} “{I'nt}=[ 20 |kN

B)TUh—K MDIRA-YICERTHEAMA :Q

Q=FH/n=[___ 151  |kN

(6)TUh—KWMZET B HE

D3I2RYHE o 0 =Rb /A= 1.73 |kN/cm?
o= 173 | <f=[_ 176 |kN/cm’
QEAMIEHE T T=Q/A=]| 134 [kN/cm?

v=_ 134 | <fs=[__ 101 |kN/cm?

@3I2RYEFAMERFFIZZITHEE
fts=14f—16T =] 225  |kN/cm?

o= 178 | <fts=] 225 |kN/cm?
(7)TBEEREm =R ET- ﬁﬁI?afﬂ(ZOMEH& REAEEABARBREL I—)DIFERI1KY

O7Uh-KWMELZE = miREXIN, JARBRUAN R LMTE |
@avy)-tEE=[__ 180 |mm =|_ 018 |m
QR M DEDHAH RS
L=[_ 128 |mm =[_ 0128 |m
@ ASIEhETE Ta= 5.6 kN

Ta=[ 56 JkN>Ro=[ 20 kN
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